GEAR-WORM REDUCER SERIES

MODEL : AS077

200 o 20
) i
\ - 4-M16X2.0
100 % o
<
) &
R 5 : & _
S 8 @ T
i > |
85 |85
I
T 104 | 104 8-M12X1.75 X VIEW
X 208 deep20
AR~ Input
QA6
4-A7
A1 ??D
- S A3 ”
ATEES
Input Flange :
o = _ @ A4 h’
Input Shaft
A OA8
279 135
50
S 40
& Y L
AT EH =
y N~
Input Shaft & © ) .

ANETUEAEE 1.5kW - 2.2kW~3.7kW = The input shaft only produces 1.5kW, 2.2kW, 3.7kW.

I N R TR

unit: mm

1.5 kW 45 273 8 24 165 M10x1.5 200
2.2kW

3.7 kW 58 31.3 8 28 215 M12x1.75 250
5.5 kW 76 41.3 10 38 265 230 M12x1.75 300

Cl1




B5 IR & RUR # R 5 GEAR-WORM REDUCER SERIES

i IR ~F Output
538 14 5

D S o
Output Shaft © 550 1] p4s

Solid Output Shaft

HOIIOE\'/:‘VVI?étFj);J;mShaﬂ E/\\H__lljjﬁm
%
12 @

ekl o

Torque arm : 'z

[—1
» W
N (O

56

o

11

Flange J

©180
@250

[I]

T N N

BIRRZELE
sotmtra, | 0T | st | oo | st | ot | s | ot | st
20 145 213 359 534

4.76 3.24 1.92 1.29

30 211 3.04 309 2.08 521 1.23 774 0.83
40 291 3.01 427 2.05 718 1.22 996 0.61
45 316 2.31 464 1.57 781 0.93 1161 0.62
60 422 1.91 619 1.3 1042 0.77 1350 0.51
80 543 1.42 797 0.97 1340 0.57
90 552 1.42 810 0.97 1363 0.57
100 548 1.14 804 0.78
120 736 117 1080 0.8

140 (141) 822 0.85 1206 0.58
160 943 0.81 1383 0.55
180 1002 0.64
200 1097 0.69
240 1336 0.51

& uming Cl12



